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€) Fillin the blanks with <, >, or = to make @) Solve. Show your work.
true number sentences.

1 3 _
125 -1, =
8 el 8
a 10%s 10
6 1
b. 3 *q 1§ *q
1
c. 15*76 76
SRB
197-198
€ Write a multiplication number sentence &) The numbers below show the cost of a
that describes the shaded rectangle. loaf of bread in different years between

1930 and 2008. Write the costs in order
from least to greatest.

$0.09, $2.79, $0.70, $0.12, $0.25

) . SRB

6 The graph below shows how much flour @ 5419 — 36.57 =7
Nigella has left after making batches of
pancakes. How many cups of flour does
she have left after making 6 batches of

(estimate)

<
3+
e
O
24]
- =
=
<L
>

pancakes? cups

A

Cups of Flour Left

012345678=x SRB
¥ Batches Made = 5419 — 36,57 = it
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Multiplying Decimals

Multiplying decimals may seem like a daunting task at first, but once you learn how, you'll find
that it’s just like multiplying regular numbers! To multiply decimals, follow the steps below.

1. Multiply normally, ignoring the decimal points.
2. Place the decimal point in the answerin the correct spot.
-It will have as many decimal places as the 2 original numbers combined.

Example: Multiply 0.03 by 11

1. Start with: 0.03 x 11

2. Multiply without decimal points: 3 X 11 = 33

3. 0.03 has 2 decimal places and 11 has no decimal places.
4. The total number of decimal places is 2.

5. Therefore, our answer has 2 decimal places: 0.33

Solve the following multiplication problems. Write out all of the steps in your answers.
Do not forget to count the number of decimals places in the original numbers
and place the decimal point in your answer.

N
3+
PR
O
(a8
- =
=
<L
>3

2.4 12 11.4
1) x 9 8 « 2 M xT
5.9 .10 15
2) % 12 ) x 03 %) x .20

x 29 X 3.4 X.295
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Describe an example for each of the following. Energy transfer by heat,

List 2 things that convert motion energy into electrical energy.

Level 1
Level 2
Level 3
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What is the definition of energy?
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An acute angle is A right angle s Ar obluse angle i«
less than 90° exactly 90" greater than 90"
X
E F Y Q
An acute iangle nas A right irlangle hos | right angle An obluse hrlangle has | obtuse angie
3 ocute ongles, and 2 ocule angles and 2 ocute angles,
Identify each type of triangle as acute, right or obluse.
a } b C
d e f
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Triangles

Triangles have fewer sides and angles than any other polygon. The prefix trk means
three. All tiangles have three vertices, three sides, and three angles.
For the triangle shown here: B Angle A is formed

side by sides that mest
' at vertex A,

« The vertices are the points 8, C, and A,
= The sides are BC, BA, and CA.
= The angles are £B, LC, and £A.

wertex

The symbol for triangle is &, Trangies have
three-letter names, You name a triangfe by
listing each |etter name for the vertices in order.
The triangle above has six possible names: ABCA, ABAC, ACAB, ACBA, AABC, and AACH.

Triangles may be classified according to the length of their sides and angle measures.

2% A £5

A scalena triangle is & triangle An Isosceles trlangle is 2 tnangle An equilateral trlangle iz 8

with sides that all have different that has at least two sides triangle with sides that all have

lengths and angles that all have that have the same length and the same lengths and angies
different measures, twi angies that have the Sane that all have the same measurs,

MEas1re
A right trlangle i= a triangle that contains one right angle (an angle that ,+' 4 0 3
measures 907, In a right triangle, the sides that form the right angle are | an e-q_uklateral
perpendicular to each other. Right tiangles have many different shapea . triangle also an

and slzes, * isosceles triangle? ;

*\LI B _ﬁﬂ .éﬂ%gurwhgnit"?-

T A

Some right tiangles are scalene triangles, and some right triangles are isosceles
tringies. But a right trianale cannot be an equilateral triangle because the side
opposite the right angle is always lenger than each of the other sides.

Check Your Understanding

1. Draw and label an equilateral triangle named ADEF. Write
the five other possible names Tor this triangle.

2. Draw an isosceles triangle.
3. Drawa right scalene triangle.

Check your arswers in the Answer Kay.

twir hundred sixty-three ]263!
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Imagine you have two identical balloons to
inflate. Someone has put a quarter inside
one of the kalloons before filling it with air.
Whaot do you think will happen when you
toss the balloons into the air and tap them
aoround with your hands to keep them
ofloat? Use words and pictures to describe
how you think the kalloons will move as
they get tossed around in the air. Watch
this 3 minute clip to find out more. How does
this compare to what you predicted would
hoppen? Explain to someone else what'’s
going on with the balloon’s motion.

https://safeYouTube.net /w,/oKo8
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https://www.youtube.com/watch?v=8YO_OlgP7jY
https://safeyoutube.net/w/aKo8
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Why do tightrope walkers often carry a long
poll aos they make their way across the
rope? What is going on with gravity when a
tightrope walker is walking across the rope?
Use words and pictures to show how you
think gravity is working in the case of the
tightrope walker. Be sure to include the long
pole in your picture. Try your own tightrope
experiment by walking along the top of a
log, curb or thin beam first with your arms
ot your sides and then with your arms out
to your sides. Describe what hoppens in
your experiment and how this relates to the
tightrope walker carrying a pole. If you'd like
to find out more, check out this
Wonderopolis Wonder of the Day #1779: Can
You Walk the Tightrope?
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bit.ly,/427box12



https://www.wonderopolis.org/wonder/can-you-walk-the-tightrope
https://www.wonderopolis.org/wonder/can-you-walk-the-tightrope
https://bit.ly/427box12
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Flip a Coin Workout

Directions: Find any coin, flip it in the air (with some flare), how does
it land? Follow the chart to see which exercise you can complete!

Flip # }g Heads Tails
1 Jog in Place: 1 20 Jumping Jacks
minute
2 Plank: 30 seconds | 8 Push-ups
L 10 Squat Jumps Wall Sit: 30
seconds
4 15 Crunches 10 Sit-ups
5 High Knees: 30 | Invisible Jump
seconds Rope: 1 minute
6 | 20 Small Arm 20 BIG arm circles
Circles (both (both ways)
ways)
7 Mountain 10 Burpees
Climbers: 30
seconds
8 20 SquatJumps | 20 Calf (heel)
Raises
9 | 20 Sumo Squats 10 Plank Toe
Touches
10 20 Plank Jacks Butt Kicks: 30
seconds

S.5-1
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What song did you listen to?

Was there someone singing?

Describe the ensemble (group of musicians) that performed the song. What instruments
did you hear? Was it a large group or a small group?

Circle the tempo/speed of the song:

Fast
Medium

Slow

o0
=
P
o
0
')
-
=
U
L
="
"))

What did the song make you think of? How did it make you feel?

Anything else you would like to share about the song you chose?
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